
 

 

Interest 

  
1. A sum of ₹3125 amounts to ₹3515.20 in 3 years 

at 𝒙% p.a., interest being compounded yearly. 
What will be the simple interest (in ₹) on the 
same sum and for the same time at (𝒙 + 𝟐)% 
p.a.? 

ब्याज वार्षिक रूप में सयोजजत होने पर ₹3125 

की राशि 𝒙% वार्षिक चक्रवदृ्धि ब्याज दर से 3 

वषि में ₹3515.20 हो जाती है| उसी राशि पर उसी 
अवधि में (𝒙 + 𝟐)% वार्षिक दर पर सािारण 
ब्याज (₹ में) ज्ञात करें|  

a) 550  b) 𝟓𝟔𝟓. 𝟓𝟎    
c) 554  d) 𝟓𝟔𝟐. 𝟓𝟎 
 

2. A sum of money was lent in two parts in the ratio 
𝟒 :  𝟓 for 4 years and 5 years respectively, both 
at the rate of 𝟖% per annum simple interest. If 
the difference between the interests earned 
from the two parts is ₹4680, then what was the 
total sum lent (in ₹)? 

𝟒 :  𝟓 के अनुपात में कोई िन राशि दो भागों में 
क्रमि: 4 वषि और 5 वषि के शिए उिार दी गई, 

दोनों भाग को 𝟖% वार्षिक सािारण ब्याज की दर 
पर ददया गया है| यदद दोनों भागों से प्राप्त ब्याज 
के बीच अंतर ₹4680 था, तो उिार दी गई कुि 
राशि (₹ में) ज्ञात करें|    

a) 42120  b) 46800   
c) 65000  d) 58500 
 

3. The interest (in ₹) to be paid on a sum of ₹30000 

at 𝟏𝟓% p.a. after 𝟐
𝟐

𝟑
 years, if interest 

compounded yearly, is: 

₹30000 की राशि पर 𝟏𝟓%  वार्षिक दर से 𝟐 𝟐

𝟑
  

वषि में भुगतान ककया जाने वािा चक्रवदृ्धि ब्याज 
(₹ में) ज्ञात करें| 

a) 𝟏𝟒𝟑𝟔𝟐. 𝟓𝟎  b) 𝟏𝟐𝟑𝟔𝟒. 𝟓𝟎 

c) 𝟏𝟔𝟑𝟒𝟐. 𝟓𝟎  d) 𝟏𝟑𝟔𝟒𝟐. 𝟓𝟎 
 

4. At what rate percent per annum will ₹7200 
amount to ₹7938 in one year. If interest is 
compounded half yearly? 

ककतने प्रततित वार्षिक चक्रवदृ्धि ब्याज दर पर, 
₹7200 एक वषि में ₹7938 हो जाएगा, यदद ब्याज 
अिि-वार्षिक रूप से संयोजजत होता है? 

a) 10 b) 8  c) 5  d) 12 
 

5. A person borrowed a sum of ₹30800 at 𝟏𝟎% p.a. 
for 3 years, interest compounded annually. At 
the end of two years, he paid a sum of ₹13268. 
At the end of 3rd year, he paid ₹𝒙 to clear of the 
debt. What is the value of 𝒙? 

एक व्यजतत न े𝟏𝟎% वार्षिक चक्रवदृ्धि ब्याज दर 
पर ₹30800 की राशि 3 वषि के शिए उिार िी, 
जजसमें ब्याज वार्षिक रूप से चक्रवदृ्धि होता है| 

दसूरे वषि के अंत में, उसने ₹13268 की राशि का 
भुगतान ककया| तीसरे वषि के अंत में, उसने ऋण 
चुकाने के शिए ₹𝒙 का भुगतान ककया| 𝒙 का 
मान ज्ञात करें|     

a) 26620  b) 26510   
c) 26400  d) 26200 
 

6. Atul borrowed a sum of ₹12000 and agreed to 
repay it by paying ₹4800 at the end of first year 
and ₹9240 at the end of second year. What is 
the rate of compound interest compounded 
annually? 

अतुि, ₹12000 की राशि उिार िेता है और पहिे 
वषि के अंत में ₹4800 आर दसुरे वषि के अंत में 
₹9240 का भुगतान करके इसे चुकाने के शिए 
तैयार होता है| वार्षिक चक्रवदृ्धि व्याज की दर 
ज्ञात करें| 



 

           

 

a) 
𝟖

𝟓
%  b) 𝟏𝟎%  

c) 𝟖%  d) 𝟏𝟐% 
 

7. What is the difference between the compound 
interest (in ₹) compounded yearly and 
compounded half yearly for 18 months at 𝟐𝟎% 
per annum on a sum of ₹12,000? 

ब्याज की गणना वार्षिक और अद्िि-वार्षिक 
चक्रवदृ्धि आिार पर की जाती है, तो प्रतत वषि 
𝟐𝟎% की दर पर, ₹12,000 की राशि पर 18 महीन े
में प्राप्त चक्रवदृ्धि ब्याज के बीच अंतर (₹ में) 
ज्ञात करें|     

a) 121 b) 132             c) 145         d) 165 
 

8. What is the compound interest (in ₹) on a sum 

of ₹8192 for 𝟏
𝟏

𝟒
 years at 𝟏𝟓% per annum. If 

interest is compounded 5 – monthly? 

यदद ब्याज की गणना 5-माशसक चक्रवदृ्धि  
आिार पर होती है, तो प्रतत वषि 𝟏𝟓% की दर से 
₹8192  की राशि पर 𝟏 𝟏

𝟒
 वषि में प्राप्त चक्रवदृ्धि 

ब्याज (₹ में) ज्ञात करें|  

a) 1735 b) 1634 c) 1640           d) 1740 
 

9. A certain sum amounts to ₹291600 in 2 years 
and to ₹314928 in 3 years on compound 
interest compounded annually. How much will 
be the simple interest (in ₹) on ₹40000 at the 
same rate for 2 years? 

वार्षिक रूप से चक्रवदृ्धि होने वािी चक्रवदृ्धि 
ब्याज दर पर, कोई तनजचचत राशि 2 वषि में 
₹291600 और 3 वषि में ₹314928 हो जाती है| 
₹40000  की राशि के शिए समान ब्याज दर पर, 

2 वषि में प्राप्त सािारण ब्याज (₹ में) ज्ञात करें| 

a) 8000 b) 7500 c) 9600             d) 6400 
 

10. A borrowed a sum of ₹160000 from B at 𝟏𝟎% 
per annum simple  interest. At the same time  

he lent the same sum to C at the same rate on 
compound interest, compounded semi-
annually for 2 years. Find  the amount (in ₹) 
earned by A in the whole transaction.  

A, B से ₹160000 की राशि, 𝟏𝟎% वार्षिक सािारण 
ब्याज की दर पर उिार िेता है| उसी समय, वह 
यह राशि C को चक्रवदृ्धि ब्याज की समान दर 
पर 2 वषि के शिए उिार देता है| ब्याज को अद्िि-
वार्षिक रूप से चक्रवदृ्धि ककया जाता है| संपूणि 
िेनदेन में A द्वारा प्राप्त शमश्रिन (₹ में) ज्ञात 
करें|     

a) 4281  b) 4280   
c) 2481  d) 2840 
 

11. A man borrowed a certain sum and agrees to 
repay it by paying ₹4000 at the end of first year 
and ₹7700 at the end of second year. If the rate 
of compound interest compounded annually is 
𝟏𝟎% per annum, then find the sum (in ₹) 
borrowed.  

ककसी व्यजतत ने कोई तनजचचत राशि उिार िी 
और पहिे वषि के अंत में ₹4000 तथा दसूरे वषि 
के अंत में ₹7700 का भगुतान करके इसे चुकाने 
के शिए तैयार हुआ| यदद वार्षिक रूप से चक्रवदृ्धि 
होने वािी व्याज दर 𝟏𝟎% वार्षिक है, तो उिार िी 
गई राशि (₹ में) ज्ञात करें| 

a) 10000  b) 9000   
c) 11000  d) 11500 
 

12. What is the difference (in ₹) between the 
simple interest and the compound interest on 

a sum of ₹8000 for 𝟐
𝟐

𝟓
 years at the rate of 𝟏𝟎% 

p.a., when the interest is compounded yearly? 

₹8000 की राशि पर 𝟏𝟎% वार्षिक दर से 𝟐 𝟐

𝟓
 वषि 

में प्राप्त सािारण ब्याज और चक्रवदृ्धि ब्याज के 
बीच अंतर (₹ में) ज्ञात करें| 



 

 

a) 𝟏𝟒𝟕. 𝟐𝟎  b) 𝟏𝟓𝟐. 𝟖𝟎  
c) 155  d) 150 
 

13. A certain sum of money amounts to Rs.9,766 in 
3 years at simple interest at 𝑹% per annum and 

to Rs.10,849 in 𝟒 𝟏

𝟐
 years at the same rate of 

simple interest. The value of R is: 

कोई िन राशि 𝑹% वार्षिक सािारण ब्याज की 
दर पर 3 वषि में रु 9,766 हो जाती है और उसी 
सािारण ब्याज दर पर 𝟒 𝟏

𝟐
  वषि में रु 10,849 हो 

जाती है| R का मान ज्ञात करें| 

a) 8 b) 9  c) 𝟗. 𝟓  d) 𝟖. 𝟓 
 

14. What is the compound interest (in Rs) on a sum 

of Rs 46,000 for 𝟐
𝟐

𝟓
 years at 𝟏𝟓% per annum, 

interest being compounded annually (nearest 
to a Rs) ?  

ब्याज की गणना वार्षिक चक्रवदृ्धि आिार पर 
करते हुए 𝟏𝟓% वार्षिक ब्याज की दर से रु 46,000 
की राशि पर 𝟐 𝟐

𝟓
 वषि में प्राप्त चक्रवदृ्धि ब्याज 

(रु में) ज्ञात करें (तनकटतम तक)| 

a) 18, 458  b) 18,485   
c) 19,485   d) 19,458 
 

15. The simple interest on a certain sum for 3 years 
at 𝟏𝟐% p.a. is Rs. 6,750. What is the compound 
interest (in Rs.) on the same sum for 2 years at 
𝟐𝟎% p.a., if interest is compounded half-
yearly? (Rounded off to the nearest Rs.) 

एक तनजचचत िनराशि पर, 𝟏𝟐% वार्षिक ब्याज र 
पर 3 वषों के सािारण ब्याज की राशि 6,750 रु. 
है| उसी िनराशि पर, 𝟐𝟎% वार्षिक ब्याज दर पर 
2 वषों के चक्रवदृ्धि ब्याज की राशि (रु. में) 
ककतनी होगी, ब्याज अद्ििवार्षिक रूप से चक्रवदृ्धि 
ककया जाता है? (तनकटतम रु. में पूणाांककत) 
a) 8, 000  b) 8, 702   
c) 7, 729  d) 6, 750        

16. A sum of ₹ 𝒙 amounts to ₹ 9,246 in 4 years and 

to ₹ 11,298.75 in 𝟕
𝟏

𝟐
 years, at 𝒚% p.a. simple 

interest. The values of 𝒙 and 𝒚 are, 
respectively:  

₹ 𝒙 की राशि 𝒚% वार्षिक सािारण ब्याज की दर 
पर 4 वषि म े₹9,246 और  𝟕 𝟏

𝟐
  वषि में ₹ 11,298.75 

हो जाती है| 

a) 6900 and 8.5 b) 6800 and 8.5  
c) 6500 and 8 d) 7200 and 7.5 
 

17. In how many years, the compound interest, if 
compounded annually on a sum of Rs. 𝟔𝟎, 𝟎𝟎𝟎 
at rate of 𝟖% per annum is Rs.  𝟗, 𝟗𝟖𝟒? 

ककतने वषो में, वार्षिक रूप से चक्रवदृ्धि होने वािी 
𝟔𝟎, 𝟎𝟎𝟎 रु. की िनराशि पर 𝟖% वार्षिक ब्याज 
दर पर, ब्याज के रूप में 𝟗, 𝟗𝟖𝟒 रु. प्राप्त होंगे? 

a) 3 b) 1 c) 4 d) 2 
 

18. In what time will a sum of Rs1,25,000 amount 
to Rs1,48,877 at 𝟏𝟐% per annum, if interest is 
being compounded half yearly? 

𝟏𝟐% वार्षिक ब्याज दर से रु 1,25,000 की राशि 
ककतने वषी में रु 1,48,877 हो जाएगी, यदद ब्याज 
अद्ििवार्षिक रूप से चक्रवदृ्धि ककया जाता है?  

a) 𝟏
𝟏

𝟐
 year  b) 𝟐

𝟏

𝟐
 years    

c) 𝟏 year   d) 𝟑 years 
 

ANSWER KEY 
1. D 2. D 3. D 4. A 5. C 

6. B 7. B 8. B 9. D 10. C 

11. A 12. A 13. C 14. B 15. B 
16. A 17. D 18. A 

 
 

 

 


